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Time Allowed : 2.00 Hours ]

[ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write.

Note: (i) Read each question carefully before answering it.

Choose the correct synonyms of the underlined words from the options given :

1.

(i) Write neatly and legibly.

PART -1
SECTION -1

The poor woman is in a panic.

(a) fear (b) grid (c) crash

Ajay started to paint happily .

(a) depressed (b) joyfully (c) rapidly

Praveen got sunstroke.

(a) fever (b) nerves (c) unconscious

Vetri constructed a bungalow.

(@) designed (b) built (c) demolished

Gladin gathered the information from the internet.

(@) disbursed (b) collected (c) spread

(d)

sad

sadly

tired

destroyed

read

5x1=5
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Choose the correct antonyms of the underlined words from the options given :

6.

10.

SECTION - II

Ajay suffered an injury.

(a) sorrow (b) endured (c)

Issac’s grandmother was very kind to him.

(a) affectionate (b) loving (c)

Files should be stored in the computer.

(a) consume (b) deleted (c)

Vetri had a strong will to start a new business.

(a) desire (b)  thin (c)

A good diet is beneficial to health.
(a) careful (b)  helpful (c)

hurt

disrespectful

preserved

weak

harmful

SECTION - III

Say True or False :

11.

12.

13.

14.

15.

Kuppayi swept out the diamond jewel.

Ramayya’s wife put the stud away in her box.

The bearded man was the friend of the king.

Asif was a businessman.

The computer doesn’t just have games. It also has Friends Net.

mourn

cruel

registered

slow

useful

5x1=5

5x1=5



16.

17.

18.

19.

20.

21.

22.

PART -II
Choose the right sentence pattern :
(i) Heis smart.
(a) SVA (b) SVO (c) SVC
(i) Pooja hired a bicycle.
(a) SV (b) SVO (c) SVA

Syllabify the following words :
(i) Dbeautiful (i) leader

Form new words using the appropriate prefix or suffix (bi, ness, dis, ful).

(a) trust (b) colour (c) cycle (d) happy

Write the following sentences in the reported speech.
(i) He said, “I am fine”.

(i) He shouted to let him go.

Find American English word for :

(i) Lorry (i) Lift
Fill in the blanks with the suitable collective noun : (bunch, flock, cup, pair).
(@ a of tea (b) a of grapes

() a of birds (d) a of shoes

Fill in the blanks by using correct preposition.

(i) I was born 1982 (at/in).

(i) Christmas falls 25th December (in/on).
(i) I was born exactly 2.a.m (at/in).

(iv) We eat breakfast the morning (on/in).

6202

2x1=2

2x1=2

4x1=4

2x1=2

2x1=2

4x1=4

4x1=4
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23. Match compound words.

A B
(i) note hall
(i) moon cut
(iii) dining book
(iv) car light
(v)  hair park

24. (i)  Write plural form of :
(a) tooth
(b) fungus

(c) sister-in-law

ii) Underline the conjunctions in the following sentences :
] g
(a) Revathi and Rohini are friends.

(b)  Shekar is intelligent but careless.

25. Write the correct degrees of comparison.

Positive Comparative
@i hot
(i) good better
(iii) beautiful more beautiful

26. Find out the clipped words for the following.

i)  gasoline

11

~"

gymnasium

(
(
(iii) laboratory
(i
(

iv) photograph
v) telephone

PART - III
SECTION - I

27. Punctuate the following sentence : (any one).

(i)  he was honest sincere hard-working
OR
(i) when is your birthday

Superlative

5x1=5

5x1=5

3x1=3

5x1=5



SECTION - II

Answer any five of the following questions given below :

28.

29.

30.

31.

32.

33.

34.

35.

Who was suspected of stealing the diamond nose stud ?

What was Ajay gifted with ?

What did Asha Devi teach Ajay ?

What is STREET SMART ?

What was the name of Vetri's company ?

Why do we use internet ?

What was Rani afraid of ?

Why was Jack’s mother angry ?
SECTION - III

6202

5x2=10

Answer any two of the following questions. Read the following lines and answer the questions
given.

36.

37.

38.

“There is something special
about a father’s love”.
(@) Who is the special hero mentioned in the poem ?

(b) Identify the alliteration in the given lines.

My Hobby is reading
It helps me
In thought breeding.
(a) What is the hobby of the poet ?
(b)  Pick out the rhyming words in the given lines.

Having a friend is like planting a flower

Show love and kindness it one day will bloom.
(a) What is planting a flower compared to ?
(b) What does “kindness” mean ?

2x2=4
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PART - IV
SECTION - I

Answer any one of the following questions in a paragraph : 1x5=5

39. Write a note on Ilavazhagi.
40. How should one use the technology of the present world ?

41. Explain how does the author spend his afternoon.

SECTION - II

42. Write a general paragraph about any one of the following : 1x5=5
(a) My favourite game
OR
(b)  Usage of mobile phones
SECTION - III

43. Read the passage carefully and answer the questions given below : 1x5=5

(a) Just then train moves. He runs towards a bogie door. The station manager rushes
forward to catch the man. But he disappears into the crowded train. They all go to the
police station. “You are a brave pair” says a police woman. Thank you for informing
us about this imposter. Shree, you were clever to confide in a trusted adult ! Will you
put up this poster about cyber security in your school, please ? We would also like to
conduct a cyber crime cell, will need to take a look at Shree’s Computer. The next day,
a cyber crime officer goes through Shree’s Computer. Within hours, the police find the
man who pretended to be Chaitra.

i)  Whom did the station master try to catch ?

ii) Where did they all go ?

(
(
(iii) Who are the brave pair in the story ?
(iv) Was the man honest or not ?

(

v)  How did the police find out the criminal ?

OR



44.

45.

(b)

(a)

(b)

Choose the best answer : (Supplementary)

@)

(i)

The train would come at

(@) one o’clock

(b) twelve o’clock
(c) two o’clock
Jim Corbett died on
(@) 19 May 1956
(b) 19 Apr 1955
() 19 Jun 1957
Moti is a poor

(a) small girl

(b) milkmaid

(c) teacher
Madhoo was

(@) the film actress
(b) servant

(c) collector

Jack chopped down
(@) rat

(b) vegetables

(c)  the bean stalk

PART -V

6202

Write a letter to the Police Commissioner about the noise caused by the loud speaker in

a music shop near your school.

Write a letter to your father asking permission to go on an educational tour.

Quote from memory
Write first six lines of the poem

‘Making life worthwhile’

OR

PART - VI

-00o0-

1x10=10

1x6=6
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

UGS - 1/PART -1
Qarhssiul_(Herer rHm ellent_seafled Wseyd ey ellenerwd Cabols(H 585
GO HLer ellenLulemarnyd CFrggl er(pseyL. 15x1=15

Choose the most appropriate answer from the given four alternatives and write the option
code and the corresponding answer.

8 . : . —6 . . P
Loy HevL &5 CTEND 6T ERTEnEmT — -~ -@lmHg HPES Calam(hib.
34 —142 142 —34
(=) 59 (<) 59 (@) o (") <9
o —6 :
The number which is subtracted from ETl to get g s
34 e 142 -
@ 59 b)) 59 © 5 d) 5
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-7

3 5 . . .
rira (Ej -@er Sl L allgeuld

(@)1 (@) 5

The standard form of the sum — +

4
-1
@ 1 ®) 5
N LpM 6T e (EHES;
2_GUTENLOUITSITS).
(1)1 (=) -1

G0
1 1
(&) 15 () >3
5 (=7)
z*(ﬁjm
1 1
© 7 (d) o

GTGUM GTEHTENITE) NG| LIGTLITES 6U@GSSHMI&S

Closure property is not true for division of rational numbers because of the number :

@ 1 (b) -1

7P% LmHmIbd (2P2)* g QLIBSSHLIGET

(<1) 14P12 (<=y,) 28P7
The product of 7P and (21’2)2 is
(a) 14P12 (b) 28P7

x> —y?=16 LHMID (x+y)=8 eTalled (x—y) ererug) :

(=1) 8 (<)3

If x2—y?>=16 and (x+vy)=8 then (x—v) is

@ 8 b) 3

9x2 + 6xy -6 SMyewilaer

(1) 3y, (x+2)
Factors of 9x% +6xy are

(@ 3y (x+2) (b)

(<4) 3x, (3x+3y)

3x, (3x+3y) (o)

(@) 0 (™ 3
1
© © @ 3
(@) 9P7 (FF) 11P12
(c) 9P/ (d) 11P!2
(@) 2 (FF) 1
© 2 (d 1
(@) 6x, (Bx+2y) (FF) 3x, (3x+2y)

6x, (3x +2y) 3x, (3x+2y)
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250 el Lfler 12% erevmiigy) 150 Ol L 6o &@ FLOOTGLD.

(1) 10% (<4)15% (@) 20% (rF) 30%
12% of 250 litres is the same as of 150 litres.

(@) 10% (b) 15% () 20% (d) 30%

@@ 1 efwrumrfl T 200 -&@ upkisemer allhm I 40 - @eruwrsl Gumdlpmi.
<feufler @eru FHaisbd
2
(1) 20% (<) 22% (@) 25% () 165%
A fruit vendor sells fruits for ¥ 200 and gains I 40. His gain percentage is :
2

(@) 20% (b)  22% () 25% @ 163%
Qm eugbeurss pECasranhiser eriiGLITgD QUH O (&S LD.
(=) enrCsTanThisameTL] (<) NfICarenTmiSemeTLl

(@) CemCsramrmisemerL () Qumrmgsorer CamentmisameTL

Two similar triangles will always have
(a) acute angles (b) obtuse angles
(c) right angles (d) matching angles

12 Qg.15. wHmd 16 C&.5. LS SjeTe| CaTarmL CemCsren WECETETSE 6 EiTanTd

. A, GD.

(<=1) 28 Q&.16. (<) 20 Q&.L5. (@) 24 Q&.15. (FF) 21 Q&.16.
The hypotenuse of a right angled triangle of sides 12 cm, 16 cm is .

(@) 28 cm (b) 20 cm () 24 cm (d) 21 cm
ST CTGITLIG) @er Qgm@Liy.

(1) eTeTaeT (=) eT(WSI&6T

(@) SfeTeser (FF) Qe emangg)Ld

Data is a collection of

(@) numbers (b) words

() measurements (d) all the above
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12.

13.

14.

15.

Car@ssiulL aleurmsaie WsLGUTw wHML WsFHADw o ereysaler
sHwirgd :

(1) ofés (<) HopQaicn

(@) wmrol (FF)  Fpma

The difference between the largest value and the smallest value of the given data is :
(a) range (b) frequency

(c) variable (d) average

ueraflg@nsdleanulerear efearmg -ellerm Curiig&da@ wetafluller sTiLrs emelany
GCsiih6ls(H&s 26 raumeuiger wHmID 15 wrameilsEhsE <& flwir Ludns oefladmm.
aailed Qeairsaladl®mbg @meiamr Rffur CsrbgsHsEs adsamar g mer
QUMILIL|&ET 2 6Terg) ?

(=) 41 (=) 26 (@) 15 (FF) 390

In a class there are 26 boys and 15 girls. The teacher wants to select a boy or a girl.
To represent a quiz competition, in how many ways can teacher make this selection ?

(a) 41 (b) 26 ) 15 (d) 390

epeTml BrenTbisamer Gy Fowssle sar(hn Curg rdsamen allgrer elleneTe,seT
HenL @b ?

(1) 6 (=)8 (@) 3 () 2
How many outcomes can you get when you toss three coins at a time ?

(@ 6 (b) 8 (© 3 (d) 2

uSlGerrpreug) GUCemTs eremr ereer ?

(1) 55 ()77 (@) 89 (rF) 144

What is the eleventh Fibonacci number ?

(@) 55 (b) 77 ©) 89 (d) 144



16.

17.

18.

19.

20.

21.

5 6203

L@ - I1/ PART - 11

QUTHSSIS : 5x1=5
Match the following :
C A . 0° or2
Ul L gdler LIFLILIGTG - 360°
Area of a circl T xm?
rea of a circle - 3607
UL Gl &Hmere] - (m+2)r
Circumference of a circle - (m+2)r
: . : . 6°
aul L Caremrliugduder Lrliuerey - 360° * 2mr
Area of the sect O xom
rea of the sector - 3607
Smrell L SHler &Hmere] - 2mr
Perimeter of the semi circle - 2mr
aul L& Garenrliugdulden efldvedlen Ferd - mr?
Length of the arc - 2

L@&S - 11/ PART - III
sTemeuCGuign|d 10 cllamdsEnsE ellenweflésea]b. 10x2=20

Answer any ten of the following :

. . 13
S50 QUlgeID STEws | -

Write the decimal form of Z

[ Sliys / Turn over
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22.

23.

24.

25.

26.

27.

6
: . 6 8 -—12
Aqd. D6 8 -1
: 11711 11

—-12 . 9 . . .
=T -E@dl(mHS 17 8% SLI&56LD.

Sub 2 trom —22
ubtract : 17 TOom 17

108 -Gl (1H (LP(LD GUTES GTENT GO ?

Is 108 - a perfect square number ?

2x2y2, 3y?z oMb —z2x° -CQUHEES.

Find the product of 2x%y?, 3y?z and —z%x3.

UGES : 27y> + 3y

Divide 27y3 by 3y.

(3a+4c)?-en wdllienLs (a+b)? erermm WPHEDTHedLeIWL LWTUHSSHE STeirs.

Find the value of (3a +4c)? by using (a +b)? identity.



28.

29.

30.

31.

32.

7 6203

600 - x% ererLig) 450 erevfled, x -6r FHLIHLIE SHTErs.

It x% of 600 is 450, then find the value of x.

Fnl (h eUlly SHTETS.

9iF =% 4000, e el lg egD r=5%, n=2 Y a@THEET. A@HHEE @R(H (P
aully saEELLILOE DS

Find the C.I for data given below :

principal =X 4000, r=5% p.a, n=2 years. Interest compounded annually.

@ CemCasran wpaCaramorarg 5 Gg.8., 12 Ga..85., 13 Qg.15. <y Hw ereyseners
Oareanr_ LGsBIGMETL CUDHO(HESS (plguwr ?

Can a right angled triangle have sides that measure 5 cm, 12 cm and 13 cm ?

O G -4,

i) (5, 7) @uyereflger e STOUGESM6TE &TeuTs.
Find the quadrants in which the following points lie on ?

M G -4

@ 6,7

X -&0 SIS &HTeuTs.

Find the value of x.

A

[ Sliys / Turn over
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33.

34.

35.

36.

37.

X, y &1 WS STeuTs.

Find the value of x and y.

P
50

1§ HTERTS.

60, 15, 20, 25, 30, 35, 10
Find the range.

60, 15, 20, 25, 30, 35, 10

sTemeuGuien|d 8 aflarmaasEnde allenLweaflésea,b.

Answer any eight of the following :

. : -5 —4
ol L QD : 7/?
Add: @ > =% 7

' 9" 3712

@m Ndlsupm eranrsatien ©lLIm&sDHLe6T

GTGOTEN GBTSH & ITCHIT .

The product of two rational numbers is

BeT eu@Hsed (penmuiled 1764 -6T GUTES PLHOLD HTERTS.
Find the square root of 1764 by long division method.

@3 - IV / PART - IV

-2 3
— . If one number is = then, find the other.

8x5=40

@G, @I erevr % crafled LHCmmT



38.

39.

40.

41.

42.

43.

(3°+385%375 (h&E GNULIGdD 6T(psis.

Simplify and write the answer in exponential form (3°+38)°>x372,

Gemaumd UL SSled Blipadl L LiGdlulden LipliLieney Srems.

Find the area of the shaded part.

10 cm

(32y%—8yz) -&3 2y -<YD CUGEHSELD.

Divide  (32y>—8yz) by 2y

6203

9982 -aor Sl (a—b)? eTerm WPHEDTHELE WL LWTLHSHES STenTs.

Find the value of 9982 by using (a —b)? identity.

fleurg@s : (x+3) (x+5) (x+2)

Expand : (x+3) (x+5) (x+2)

x2+8x+15 - srranilliL(hdss.

Factorise : x2+8x+15

[ Sliys / Turn over
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44.

45.

46.

47.

10

48 oy, arseT ep(h Couanavenw Brlermranmis@ 7 wewtl Crrb Ceuana GlFg 24 B sefld
wpig i erefled, 28 <y amrger Gy Coauanevenwt prblerremmis@, 8 wewtl Cryb Geuene
Qalig erssenen Brlgefled (wpigliim ?

If 48 men working 7 hours a day can complete a work in 24 days, then in how many days
will 28 men working 8 hours a day can complete the same work ?

@QuUULSH x, y LHMID z -6 WIHLILSHEETS &TewTs.
Find the value of x, y and z.

25 & (hbunisealiQaTer Gphangsaien eramanidans G CaTOssILL(HdTeng. @D
QET@&SILLTS BlHpOleueT LFele pLpaLd i L almentenil STt GlFls.
1,3025,23,41,05,43,1,3,2,5,2,1,1,2,6,2, 1, 4

Represent the following data in ungrouped frequency table which gives the number of children
in 25 families.

1,3,0,25,2,3,41,0,5,4,3,1,3,2,52,1,1,2,6, 2,1, 4.

u@d - V/PART -V
emeumid ellammés@hd@ ellenlwefl&se] . 2x10=20
Answer the following questions.

(<) DE=6 @&..8.,, EA=5 Q&.15.,, AR=55 Q&.15., RD=52 Q&.15., whmid DA=10 Q&.L5.
I ere|smersd Cereanr. DEAR eremtm BrH&SIL euanfhgl LFLL6TMm6IS
SHTEOT.

360605
(<=4,) AIMS, AI||SM, Al=6 Q&.15., IM=5 Q&.15., AM=9 Q&.15., MS=6.5 G&.15.

S|ETE|HMET 2 L UL FfleUsD euanThgl LFLILIGTENGIS STeTs.

(a) Construct a quadrilateral DEAR with DE=6 cm, EA=5 cm, AR=5.5 cm, RD=5.2 cm
and DA =10 cm and find its area.

OR

(b) Construct a trapezium AIMS with AT||SM, AI=6 cm, IM=5 cm, AM=9 cm and
MS=6.5 cm and find its area.



48.

11

(=1) A(=2,6), B@, —3) @dw yaraflgener Qeanamrsg CrrGasr(h euemys.

S|6060F)
(<=¥) y=>5x eTeID FOATUTL M@ GUMTLILLD QNS
(a) Draw a straight line by joining the points A(—2, 6) and B(4, —3).
OR
(b) Draw a graph of y=>5x.

-000-
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[ 55200 =5 100 : U5 ]
Time Allowed : 2.00 Hours ] [ Maximum Marks : 100

WIS AL e Pt SN G S gl L3Sl (1) sl
L L i sl L8 S lsm HJeklemld @)

Instructions : (1) Check the question paper for fairness of printing. If there is any lack
of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.
PART - I/ 12}
15x1=15 - 46.:/’KW/)’?&KJ'/&}U}QQ?UU}”@gﬁaﬂ)gjké’%;

Choose the most appropriate answer from the given four alternatives and write the option
code and the corresponding answer.

U et = LLIPL 1

LR 142 —142 34
99 @ % © 9 () 9% @
L —6 ,
The number which is subtracted from ETl to get 9 s
34 b —142 142 d —34
@ 9 ®) o © g @ g

[ 31 (£ / Turn over
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e FudEL % ; g N (—_7)

12
1 1 -1
5 @ 5 © > 1 (@)
3 5 -7
The standard form of the sum 1% (Ej is

-1 1 1

@ 1 ® 5 © 3 @ 5
_‘guﬁ@wﬁ"f"{iéﬁﬁ&wld”t L,.?)d/ 146

1

5 (d) 0 (0 -1 (b) 1 (

Closure property is not true for division of rational numbers because of the number :

@ 1 © -1 © 0 @ =

ALK (2P2)* st 7P8

11P12 (d) 9P7 (¢ 28P7  (b) 14P12  (a)
The product of 7P3 and (2P2)2 is
(a) 14P12 (b) 28P7 (c) 9P7 (d) 11P12

IR0 (x—y) & (x+y)=8 » x2—y2=16/’7'

1 @ 2 (© 3 (b) 8 (a)
If x2—y?>=16 and (x+vy)=8 then (x—v) is .
(@) 8 (b) 3 (@ 2 d 1

QAL 9x2+ 6y

3x, Bx+2y) (d) 6x, Bx+2y) (o) 3x, Bx+3y) (b) 3y, (x+2) (a)
Factors of 9x% +6xy are .
(@ 3y, (x+2) (b) 3x, (3x+3y) () 6x, (Bx+2y) (d) 3x, B3x+2y)



3 6204

§ 150 litre l:'fe‘a(ﬁl'?' 12% € 250 litre .7
30% (d) 20% (o) 15%  (b) 10% (a)
12% of 250 litres is the same as of 150 litres.
(@) 10% (b) 15% () 20% (d) 30%

e Criadiute U 740 SBu 7200 Kot mz Sl 8

2
162% () 25% () 2% (b) 20% (a)

A fruit vendor sells fruits for ¥ 200 and gains I 40. His gain percentage is :

2
(@) 20% b) 22% (© 25% @ 163%

s (b) bl (a)
gd (@) S (©
Two similar triangles will always have
(a) acute angles (b) obtuse angles
(c) right angles (d) matching angles

Buisk (Jf 16cm 12em 22l J7 o Geds 10
2lcm  (d) 24cm (0 20cm  (b) 28cm  (a)
The hypotenuse of a right angled triangle of sides 12 cm, 16 cm is
(@) 28 cm (b) 20 cm () 24 cm (d) 21 cm

coh (1) = 11
K oer () U (0 56 (b) Glel  (a)
Data is a collection of

(a) numbers (b) words (c) measurements (d) all the above

[ 31 (£ / Turn over



6204

: ‘aﬁ)u:/}‘ﬁwjf’wfwjég,;,g
bl (d) SB3 (0) 25 (b) = (a)

The difference between the largest value and the smallest value of the given data is :

(a) range (b) frequency (c) variable (d) average

e U e bl A E A Ld e i gy 15 wil S 26 UL
¢ Lal:ﬁ/;«l’;":/
390 (d) 15 () 26 (b) 41  (a)

In a class there are 26 boys and 15 girls. The teacher wants to select a boy or a girl.
To represent a quiz competition, in how many ways can teacher make this selection ?

(a) 41 (b) 26 ) 15 d) 390

2 (d) 3 (0 8 (b) 6 (a)

How many outcomes can you get when you toss three coins at a time ?

@ 6 (b) 8 (© 3 (d) 2

¢ « e (Fibonacci) Stadutsl
144 (d) 89 () 77 (b) 5 ()

What is the eleventh Fibonacci number ?

(@) 55 b) 77 (©) 89 (d) 144

A2

13

14

15



5 6204

PART - II/I1 &4,

5x1=5 L ind 5t
Match the following :

o

360° X Tr - ,.?/Kn//’) .16
: ° 2
- X Tr
Area of a circle 360° ™
(m+2)r - L€ 17
Circumference of a circle - (m+2)r
w X 21TI‘ - ,..:;/KC% -18
Area of the sect " 2m
rea of the sector - 360°
2ur - LISl a9
Perimeter of the semi circle - 21r
w2 - dudui 20
Length of the arc - 2
PART -1II/ III- &4
10x2=20 s Szl e S50

Answer any ten of the following :

: 13
-“gqf’dulflfu( T 21
Write the decimal form of Z

[ 31 (£ / Turn over
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6 8 -1

11/ 7

Add : 1 11

Sub 9 trom —22
ubtract : 17 rom 17

Is 108 - a perfect square number ?

Find the product of 2x%y?, 3y%z and —z2x.

Divide 27y3 by 3y.

9
7 S

2
6 8 -1

11" 11" 11

X3

-12

-y = ALK — 223 il 2622, 3y2z

LS 3y

~Ee S (Batao)? Lnd JJEIK=5EE (a+b)2

Find the value of (3a +4c)? by using (a +b)? identity.

22

23

¢ ol J‘iﬂ 108 |7 .24

25

.26

27



_Eeedd x oo x% K 600 450 i
It x% of 600 is 450, then find the value of x.

A O AT N
RN P
o 2=cu 2l 5% =007 <T4000 = M
Find the C.I for data given below :

principal =X 4000, r=5% p.a, n=2 years. Interest compounded annually.

¢ Ex13em s 12em e« 5em QUL A GedE LT

Can a right angled triangle have sides that measure 5 cm, 12 cm and 13 cm ?

L C LB U P e b
G -4 @
6,7 (i)
Find the quadrants in which the following points lie on ?

O G -4

: é"}"/;’d/ X

Find the value of x.

A

[ 31 (£ / Turn over
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28

29

30

31

32
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EeedS sy 33
Find the value of x and y.

P
50°

LG 3
60,15, 20, 25,30, 35, 10

Find the range.
60, 15, 20, 25, 30, 35, 10

PART-IV /IV- &4

8x5=40 L Zo 2l e e T8
Answer any eight of the following :
L E G 35
-5 -4 7
9" 3" 12
Add: =2, =% 7
' 9" 3" 12

3 - -2 . w“
_é{r)’“‘w‘/» et - w..‘g/’/'-ba 3 b.«/gfllag;w’ubt» 36

-2 3
The product of two rational numbers is 5 If one number is - then, find the other.

LG 1961764 = 2 SE Jr o 37
Find the square root of 1764 by long division method.



L Zt Pl eI mngE f

Simplify and write the answer in exponential form (3°+38)°>x372,

Find the area of the shaded part.

10 cm

Divide (32y>—8yz) by 2y

(35+38)5x 35,

Ll L

rr
. é“ g
X3

(32y2 —8yz) by 2y

_Ep B8 9982 L nd S IEastE (a—D)2

Find the value of 9982 by using (a —b)? identity.

Expand : (x+3) (x+5) (x+2)

Factorise : x2+8x+15

[ 31 (£ / Turn over

: “é@”?
(x+3)(x+5)(x+2)

: "éﬂﬁ:;:@bu';,u

x2+8x+15

6204

38

39

40

41

42

43



6204 10

SESISEUDE LIRS it s 28 JumZ SJIESp6t D 08 L6 7 rnhlyy 48 1 a4
e Ly H

If 48 men working 7 hours a day can complete a work in 24 days, then in how many days
will 28 men working 8 hours a day can complete the same work ?

: "é")l’”/ﬁd/ zunlxy 45

Find the value of x, y and z.

-ujé%;ééuim} 25 J(ﬁéﬂlﬁ;d:ﬁ)ﬁd)&:’/&w&}@/} 46

1,3025,23,41,0,5,4,3,1,3,2,5,2,1,1,2,6,2,1, 4.
Represent the following data in ungrouped frequency table which gives the number of children
in 25 families.

1,3,0,25,23,4,1,0,54,3,1,3,2,5,2,1,1,2,6,2 1, 4.
PART -V/ V-2
2x10=20 s & St 5en

Answer the following questions.

RD=52 cm <AR=55 cm <EA=>5 cm DE=6 cm (AU &t/ DEAR {lelizbsfl  (a) .47
/3
-~ LK « DA=10cm
L

o

MS=65 s AM=9cm IM=>5cm Al=6cm <Al [|SM ¥zt AIMS SAE L1 (b)
GGl 5 em

(a) Construct a quadrilateral DEAR with DE=6 cm, EA=5 cm, AR=5.5 cm, RD=5.2 cm

and DA =10 cm and find its area.
OR

(b) Construct a trapezium AIMS with AT||SM, Al=6 cm, IM=5 cm, AM=9 cm and
MS=6.5 cm and find its area.



11

_E2sfe2) B4, —3) 4 A(=2,6) LB
[

e

=5z

Draw a straight line by joining the points A(—2, 6) and B(4, —3).
OR
Draw a graph of y=>5x.

-00o0-
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9|MleSlwiev / SCIENCE

(5O wHmIDd pmidlew alfl / Tamil & English Version)

&M 26y : 2.00 wewtl CryLD | [ Qrgs wHibluamser : 100
Time Allowed : 2.00 Hours ] [ Maximum Marks : 100

Plejemrset : (1) Smarsg elamsseEpbd sflwursl udeurd o drargm eraTUFSMETE
sflurigsgs Camererab. AFsLUS el Gapuilmlulber, <emms
sansrenilliurerflib o L anquirss Csflalésseb.

2) Beod gy sHLUY owulmar LLECWL  T(PFHUSDHGLD
23 &ECsTIg(Haugn@Gb LweaU(hdS GCalar(Hb. LLBIGET eUaFeUsnE
Quenfled LiwemI(HSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@&S - I/PART -1
lfley - 1/ SECTION -1

QarhssiuL_(Herer wrbHm edllent_seafle Wga|b e ellenLamuis Csbols(H 5585
GO HLer ellenLulemarnybd Carggl er(pseyL. 15x1=15

Choose the most appropriate answer from the given four alternatives and write the option
code and the corresponding answer.

L 2AYsssilan AG :
() UTev&E (<=,) Crigwen (@) umrdev () Bluyl L e
The Unit of Pressure is :

(a) Pascal (b) Radian (c) Poise (d) Newton

[ Hpliys / Turn over
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2
glreu Bleneulledlmpgl S Hlenevd@ wrmid Hlaspeins eremm Gl
(1) usmsLIESD () Gallialssed (§) 2@mpsa () vgge

The process of converting a liquid into a solid is called

(a) Sublimation (b) Condensation (c) Freezing (d) Deposition

weflg srgsEs Col a8 gnlgl FTCleueT auFbL

(1) 2 Hz pged 2,000 Hz cueniy (<4) 20 Hz 1pgev 2,000 Hz eueniy
(@) 20 Hz @pged 20,000 Hz aueny () 200 Hz @pged 20,000 Hz euenty
The range of audible frequency for the human ear is :

(a) 2 Hz to 2,000 Hz (b) 20 Hz to 2,000 Hz
(c) 20 Hz to 20,000 Hz (d) 200 Hz to 20,000 Hz

MRI eremmuigen aflflour&sid

(1) Magnetic Resonance Imaging (<4,) Magnetic Running Image
(@) Magnetic Radio Imaging (rF) Magnetic Radar Imaging
MRI stands for

(a) Magnetic Resonance Imaging (b) Magnetic Running Image
(c) Magnetic Radio Imaging (d) Magnetic Radar Imaging

Sleuis Gamer erem fenpdsLiL(heug)

(1) ygen (<o) Qaueiraf] (@) wif (") Qseueumi
is called as Red Planet.

(a) Mercury (b) Venus (c) Earth (d) Mars

GQeutinblenereflgefles LwaTLHSSILIHL Sreu 2 Carsd :

(1) smAyid (@) ursrsy (@) Qeucraf () g
The liquid metal used in thermometers is :

(a) Copper (b) Mercury (c) Silver (d) Gold



10.

11.

3 6205
QWQJ@@JGN@JL?)@JG]T 9 Cam_ erarliLi(heugl ergl ?
(=) < dadlgan (<) epLyege
(@) Feour (FF) &mruer el Y&

Which of the following is known as azote ?

(a) Oxygen (b) Nitrogen

(c) Sulphur (d) Carbon dioxide

ﬁrﬂd), manl rmer wOHMD Y&fner dwumen Blenm 6555l e
L) en eI G| 6T 60T

(=) 1:8 (<=4)8:1 (@) 2:3 (FF) 1:3

In water, hydrogen and oxygen are combined in the ratio of by mass.

(@ 1:8 by 8:1 (c) 2:3 d 1:3

Qeutiufleneoufed B Lef&Es1quITs WIHHELU|D.
(<) 0°C (<) 100°C (@) 102°C (/) 98°C

Water changes to ice at :

@) 0°C (b) 100°C (€) 102°C (d) 98°C
Camguwib enaml rréans®h e(h G 1D.
() Wlevbd (<=},) STy (@) %m0 (FF) 786 Hvanal

Sodium hydroxide is a

(@) Acid (b) Base () Oxide (d) Amalgam
2 WM Qe ser @6 SjeredlLiLi(hdlemmer.
(<=1) Q&.18. (<) O.L8. (@) ewwsiymen (FF) S

The cells of animals are measured in

(@ cm (b) mm (c) micron (d) meter

[ Hpliys / Turn over
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12, sruumen &S oigen 2 seilu|L6 BEHTHMI.
(1) sméd (<) ratbLy (@) swsbaréd (7)) @G 2Ld
Cockroach moves with the help of its :
(@) Leg (b) Bone () Muscular foot (d) Whole body
13. AP (H&ET SMFUITSHME.
(=1) Cametulen LHMID O (=) PLPEISTE HMID SEDISSHTE

(@) Cuwé gren LHMD wasrer B () S sTerl wHMLD Ced SrenL
joints are immovable.
(a) Shoulder and arm (b) Knee and ankle

(c) Upper jaw and skull (d) Lower jaw and upper jaw

14. vavewile alengsmer @O CFwdperpuiler GlLwiT

(1) e-pse (<) cllnsgsa
(@) wuird CQumEsD () LubrE spHé
The process of placing seeds in the soil is called as :

(a) Ploughing (b) Sowing

(c) Crop production (d) Crop rotation

15. &r(®H P eTarug)
(=1) srhsmer NGS5 (<) STEUIBIGENET GUETTLILIZ
(@) sreurmigemers selaflliLig (FF) @eneu ergieyLdleveney
Deforestation means

(a) Clearing of forest (b) To grow plants

() To look after plants (d) None of these



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

5 6205

1Slfley - 2 / SECTION - 2

Camgl L @)L migemer HlrliLs. 10x1=10
Fill in the blanks.
dlewrng Csmemrid eTED A0EH D HeTESLILIHS D.

The solid angle is measured in

QPG Hlevawnseid emsrrD GFlul Lwemhn CaTers g

The spherical mirror used in a beauty parlour for make-up is

60l QYD 2 (HeuTssLUBHFH D).
Sound is produced by

saTrer @ LU Curargdemer 2 wimgsll LiwerL(heig

are used to lift heavy iron pieces.

2 i Ll 5L LwetUHEng.

Dry ice is used as a

Gerallufler Gar(H&dle Sled 2 drerg).

Wasp sting contains acid.

epemsulellmpg swrflssiuBelg Oueldleler erermenLpdsL-

Penicillin is obtained from the fungi

‘UeSLILITL g i)’ ereotm GlFmed QumAuiledmbg CuDLILLL ).

The word ‘Taxonomy’ is derived from language.

@er wlel WBsUGufw G <,@Lb.
The largest cell is egg of an

WWEF erarLig 0n& GHSS g
WWEF stands for

[ Hpliys / Turn over
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26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

QUTHSSHIS :

Match the following :

Blpubfens

Dispersion of light

ug,r&a;mrrg;ﬁb

Sublimation

UM F&LDTenT]

Barometer

e 2

Fuse

FHS Ul men
Chandrayaan

FFGL_

Yeast

&0 BL_ITEDGOT
Nitrogen

eTL_euirl_ Gleyereotit

Edward Jenner

A FWLIGETTe oen LIS

Cyanophyceae

L&D

Protein

S1fley - 3 / SECTION - 3

SO eUTLeUTsHea

Solid to gas

auefl a0 (PSSO

Atmospheric pressure

auUTesTedl ey

Rainbow

SO LS

Vaccine

Beols ugengls LTS

Blue green algae

shElyen

Moon

WOengEHm NS &S GLTETOD LITGISTEGLD

Prevent a circuit from over heating

YOGt <=bleud

Amino acid

o TId

Fertilizer

2 WM efenerry, &

Biocatalyst

10x1=10



36.

37.

38.

39.

40.

41.

42.

1Slfley - 4 / SECTION -4

@il eurisengasefleo aflenLwefllsseyb.

Answer the following questions in one or two words.

eeflEQamedler SI i@ eremar ? g6 GOIUIH wrg ?

What is the SI unit of luminous intensity ? How is it denoted ?

2 Gaorsll CUTElsER&EE@ @ THSISST(H H(MHS.

Give one example for metalloids.

ereumd saflwmigaflear @dMuiGsmear erpg)s.

(1) srasd (<) QoY
Write the symbols for the following elements.
(@) Gold (b) Iron

daflsr swrflésl Lweru®n urdseflureler Cuweny 6r(pg)s.

Name the bacteria used in the production of Vinegar.

<PngIGCurer o uilflamiseEpsE Q@ THSIHESTL(HEHET F(Hs.

Give two examples for extinct species.

L@ - 11/ PART - 11
aCamIb LSF lamssErdsE el Wwellése,b.

Answer any ten of the following questions.
<UL — aueTwUMI&GSEeLD.

Define - Ampere.

gafl erdlCrmafiliy elldlsamers snms.
State the Laws of Reflection.

6205

5x1=5

10x2=20

[ Hpliys / Turn over
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43.

44.

45.

46.

47.

48.

49.

50.

Ol6m (PEOMD LSFSNSE Bren@ eT(HSSISSTL(HSET S(Hd.

Give any four uses of electroplating.

BOwred ereimmed erever ?

What is an Ultrasonic Sound ?

Cewnenss STHSLD TaTDTD 6Temem ? eT(HSSHIEHTL(NSET H(Hs.

What is artificial magnet ? Give Examples.

ereumd GHuiGsarmed GNEsLGUND saflvmigafler CUwWTsmar 6r(pg)s.

(<1) Na (<) W (&) Ba () U

Name the elements with the following symbols.

(a) Na by W (c) Ba d U

enpLreyeflen Liwismsenerls L iquiedl(hs.

List out the uses of nitrogen.

Geudl& gwemm(h) erammred eTemer ?

What is a chemical equation ?

B e FTeu SEFLILITGT — STTERID Fn)sb.

Water is an Universal Solvent - Give reason.

ge Qleulil LSS meET — eUanTIIMI&SE,LD.

Define - Specific heat capacity.



51.

52.

53.

54.

55.

56.

57.

6205

sflur ojdeg euDT eTans Fmmis. Seum Tl FmmHens SHmSS 6r(pss.

‘Quepburere <lomsear Bfle samreidlaame.

State whether the following statement is true or false. If false correct the statement.

“Most of the acids are not soluble in water’.

srrmgeflen rCosed Bren@ CeudlILIGTLSmET 6T(LpS)s.

Write any four chemical properties of base.

CNG eremugenan ellfleyuhdd igepars Lnmdl GO 6T(pg)s.

Expand - CNG and give a note on it.

lengsselen auansEemeTLl Ll iquwiadl(hs.

Name the methods of Sowing.

191.19. <y, I (PBR) eTaImTed GTeoarr ?
What is PBR ?

L& - 11/ PART - III

91fley - 1/ SECTION - 1

Yemeu(meuameupdH@ UL LD eUenThgl, LTESBIGMeTs @&Hase, L.

Answer the following diagram questions.

SjLSumellen LIL LD aUenihgl LITERIGMETS &MEseLb.

Draw and label the parts of Amoeba.

elloomi@ Cladedlen LIL LD euenfhg LITGBRISMmETS GN&sea, .

Draw and label the parts of Animal Cell.

2x5=10

[ Hpliys / Turn over
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58.

59.

60.

10

Slfley - 2/ SECTION - 2

Epsaramid cHlamés@nsE ellenweflésea,b. 6x5=30

Answer the following questions.

(=) SlgLILEnL. HeTe ST HeUDMIET e @HHEHL6T LI lq el ([Hs.
S|V
(=) Qeuting Gheneu Ceuaned QLD ellssSlaner ellersEs.

(a) List out the base quantities with their units.
OR

(b) Explain the working of thermos flask.

(=) Weammed ereeumm Coremmdlng ?
S|6060F)

(=) @ wrEUTlger elemaTe smerd GMDES eTanal BLellqsHams o (Hés
Gouair(Hd ?

(a) How lightning takes place ?
OR

(b) What steps should be taken to reduce the effect of noise pollution ?

(=) ueCeumy Hlenesafler Hir wTHELHZMD ellaTdEHs.
S|V
(<) Blessiluder LeGoum cuamssameri LHM 66T @Hs.

(a) Explain the different ways by which water gets polluted.
OR

(b)  Explain the different types of coal.



61.

62.

63.

= 6205
(=) 2 awreyls Cummerser ereucurm Coudl allenanaermed LrSlasliLIHSTDET eTemLIenS
eNlemd @ s.
ENTVIOVE:
(=) srrmiseaflen LWETEHET Wreneu ?

(a) Explain how food items are spoiled by chemical reaction.
OR
(b) What are the uses of bases ?

(1) yCrruwriigdev LHm allerdEs.
S|6060F)
(<=4) ®EHIeuS sreurmigetien CLwTsamer er(pdl jeummler Liwersamer edlalflése]ib.

(a) Explain about probiotics.
OR

(b)  Write the names of medicinal plants and explain their uses.

(=) Feuap( LTI 2 STTamTdgIL 6 65l6mdHEs.
LMV
(<) Briurger penpseners LHH allerdEs.

(a) Explain Osmosis with an example.
OR

(b) Give a detailed account on irrigation.

-000-
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack

of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.
PART -1/1-24
SECTION -1/1-%
15x1=15 -46,,mwmy:?‘e/w/u%/d}pq}unw.u:.pu;g&/ vz s

Choose the most appropriate answer from the given four alternatives and write the option code
and the corresponding answer.

:‘QJWU@;; 1
i (d) Sy © gLl (b) F G

The Unit of Pressure is :

(a) Pascal (b) Radian (c) Poise (d) Newton

[ glj" / Turn over
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2
b Pl St oA
€ () W (© () & @

The process of converting a liquid into a solid is called

(a) Sublimation (b) Condensation (c) Freezing (d) Deposition

o ;ﬁyu}&j.éuww

2,000Hz ¢ 20Hz (b) 2000Hz ' 2Hz (a)
20,000Hz ¢ 200Hz  (d) 20,000Hz £ 20Hz  (c)
The range of audible frequency for the human ear is :
(a) 2 Hz to 2,000 Hz (b) 20 Hz to 2,000 Hz
(c) 20 Hz to 20,000 Hz (d) 200 Hz to 20,000 Hz

< A MRI
Magnetic Running Image (b) Magnetic Resonance Imaging (a)
Magnetic Radar Imaging (d) Magnetic Radio Imaging (c)

MRI stands for
(a) Magnetic Resonance Imaging (b) Magnetic Running Image

(c) Magnetic Radio Imaging (d) Magnetic Radar Imaging
et
or @ S © vl (b) e (@)
is called as Red Planet.
(a) Mercury (b) Venus (c) Earth (d) Mars

: ‘Lalwd.l,«dbi_kgdwf’u&ﬂ}ft}
tv  (d) $4b (o) sy (b) <0 (a)
The liquid metal used in thermometers is :

(a) Copper (b) Mercury (c) Silver (d) Gold



¢ ‘Lt'bl/j/ azote <A
T (d) B Pt (b) dg:fy (@)

Which of the following is known as azote ?

(a) Oxygen (b) Nitrogen (c) Sulphur (d) Carbon dioxide

- y/li'g&)ﬂ'd/u%“lﬁﬂcﬁu,?@ :oz{blétufd&

1:3 (d) 2:3 (o) 8:1 (b) 1:8 (a)
In water, hydrogen and oxygen are combined in the ratio of by mass.
(@ 1:8 (b) 8:1 () 2:3 (d 1:3
- by ) Ay dg
98°C (d) 102°C (o) 100°C  (b) 0°C  (a)

Water changes to ice at :

(@) 0°C (b) 100°C (c) 102°C (d) 98°C
s 0 2T A E
A @ AT (o JU () 2@
Sodium hydroxide is a
(a) Acid (b) Base () Oxide (d) Amalgam
e dedes Fedudl it
meter (d) micron (c) mm (b) cm (a)

The cells of animals are measured in

(@) cm (b) mm (c) micron (d) meter

[ glj" / Turn over
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_Aat‘/&//cud/ %U@;
e (d) #3F (0) GANG) 5 (@)

Cockroach moves with the help of its :

(a) Leg (b) Bone () Muscular foot (d) Whole body
_uan:/’//Jl?L'/"ﬁgc
Sl (b) sz (a)
ZEN 2 (d) S4Ea 28 (©
joints are immovable.
(a) Shoulder and arm (b) Knee and ankle
(c) Upper jaw and skull (d) Lower jaw and upper jaw

de ) e @)
S @ e ©
The process of placing seeds in the soil is called as :
(a) Ploughing (b) Sowing

() Crop production (d) Crop rotation

LeUsd (b) dedf (@
ety @ Lblumy ©
Deforestation means

(a) Clearing of forest (b) To grow plants
(c) To look after plants (d) None of these

a2

13

14

15
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SECTION - 2/ 2.

10x1=10 L ALde
Fill in the blanks.

— Qb Fedan# 16

The solid angle is measured in

‘Lt'n;de;//lJl)ngédW'uﬁ//gé)g 17

The spherical mirror used in a beauty parlour for make-up is

_Lg&ni,g:c; T a8

Sound is produced by

gL il L8 A e I3 19

are used to lift heavy iron pieces.

ce bRl s 20

Dry ice is used as a

—e b UL vl 2
Wasp sting contains acid.
e bl SaF gl et >
Penicillin is obtained from the fungi
PETIVY YIE el 23
The word ‘Taxonomy” is derived from language.
e Llre rkIE 24

The largest cell is egg of an

A EWWE 25
WWEF stands for

[ glj" / Turn over
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SECTION - 3 /3_¢%F
10x1=10 PISTI NS
Match the following :

S (@ JEIS 26
Dispersion of light Solid to gas
A (b) 27
Sublimation Atmospheric pressure
LA (© Gl 28
Barometer Rainbow
o (d) w29
Fuse Vaccine
Jru (o) sz 30
Chandrayaan Blue green algae
£ () & 31
Yeast Moon
< “u/._}’f/c;Lyz(/fup (g) JaFt 32
Nitrogen Prevent a circuit from over heating
L2820 (h) ikl 33
Edward Jenner Amino acid
M) L 34
Cyanophyceae Fertilizer

Protein Biocatalyst
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SECTION -4 /4.

5x1=5 UL L2l e Ui f 580

Answer the following questions in one or two words.

¢ bl LA ¢ K ST Sewdet 36

What is the SI unit of luminous intensity ? How is it denoted ?

_é)JC’/ugJufb’c«Lm 37

Give one example for metalloids.

A L et 38
L (b) )
Write the symbols for the following elements.

(@) Gold (b) Iron

_.g.f%wﬁmLuLngc;quﬁwngﬁ 39

Name the bacteria used in the production of Vinegar.

_é)ﬂ C‘*)}(Z:{JO:}'(;M 40

Give two examples for extinct species.

PART - 11 / TL- &}
10x2=20 s a2l e s MW A 5T

Answer any ten of the following questions.

-l a

Define - Ampere.

[ glj" / Turn over
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8
State the Laws of Reflection.
Give any four uses of electroplating.
What is an Ultrasonic Sound ?
What is artificial magnet ? Give Examples.
U () Ba (c)

Name the elements with the following symbols.

(@) Na (b) W (©)

List out the uses of nitrogen.

What is a chemical equation ?

Water is an Universal Solvent - Give reason.

Define - Specific heat capacity.

_ELLUE
e I L

¢ eI L I

L ¢ o YR e

: 4%1/&& Al fitn

W () Na (a)

(d U

LS e e 0L P

el e Sl

eowad$enr - Ky

42

43

44

45

46

47

48

49

.50
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 EE s Siuk | e B itatigfol 51
LGOS (X B
State whether the following statement is true or false. If false correct the statement.

‘Most of the acids are not soluble in water’.

R PN S

Write any four chemical properties of base.

_gqu_,g/?uu,ﬂ“é &S CNG 53

Expand - CNG and give a note on it.

L uatl iy s

Name the methods of Sowing.

¢ < PBR 55
What is PBR ?

PART - ITT / T .44
SECTION -1/1-¢/¥
2x5=10 WEZIT IO 1L SRV TSI

Answer the following diagram questions.

_.gg(téu,bz:w/?mﬁ{ i 56

Draw and label the parts of Amoeba.

-ggrtaiul/é“@ﬁgfuﬁé,}é&tf 57

Draw and label the parts of Animal Cell.

[ glj" / Turn over
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6x5=30

10

SECTION -2 /2%

Sl v S5

Answer the following questions.

i b dA L UEEIS IS UL L
b
S ALl L f
List out the base quantities with their units.
OR

Explain the working of thermos flask.

¢ ‘Lant’;bdfﬁ
[
¢ W&L@éngﬁ!Lu;f“&LL/ﬁwmiLfﬂjrgf

How lightning takes place ?
OR

What steps should be taken to reduce the effect of noise pollution ?

® e trron T P o s fUR A
b
ol P BIEE
Explain the different ways by which water gets polluted.
OR

Explain the different types of coal.

59

.60
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_ECF dniie Jolidug A
L
¢ e B s

Explain how food items are spoiled by chemical reaction.

OR
What are the uses of bases ?
~ECA Ut
b
E A e 0L gt ZHL oy
Explain about probiotics.
OR

Write the names of medicinal plants and explain their uses.

_E Lol

Explain Osmosis with an example.
OR

Give a detailed account on irrigation.

-000-
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sflurTggs Garararab. FHULS e Gapuldmiuder, ens
sasrantureril_b o | anguirss Cgflelsse]m.

!ga)Lb Sog  SmUY owbullamear LLEHCL TWHSHGLW
23 &ECsTIg(Haugn@Gb LweaU(hds Calar(Hb. LLBIGET eUaeUsnE
QuenFled LiwiemI(HSSeLD.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ - I/ PART - 1
Slfley - 1/ SECTION -1

QarhEsiuL_(heTer rHmn eflenL_setle Wsea b erhLem alenLewsd CsimbelsHSsis

GO HLen ellenLulenarnyd Carsgl er(Lpsa,Lb. 10x1=10

Choose the most appropriate answer from the given four alternatives and write the option
code and the corresponding answer.

1. @bdwureller CumidssESu < Hes5HDE DgSFeTd SSHall wrr ?

(=) aumevCamLgmom (=) urissGamslGum Luiev

(@) soGuranGar-ig-SeoLsis (F) Ao6lwLm

Who laid the foundation of Portuguese power in India ?

(a) Vasco da Gama (b) Bartholomew Diaz

(c) Alfonso de Albuquerque (d) Almeida

[ SpLiys / Turn over
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2
“Geugld” erarm GlFmed Ol(HBg UbBSF.
(<) swavdl@sd () @osder (@) Grrdmsid
The word ‘Veda’ is derived from .
(a) Sanskrit (b) Latin (c) Prakrit
LIDBISTE hSIRIGET eTaLILI(heug)

(<=1) appiiur wHmib CoreepssTCrm
(<) CLcvell HmID emangrTLTs
(@) ubuml WLHND SOSSST

(FF) Umeom mmIDd BI&LLT

Ancient towns are .

(a) Harappa and Mohenjodaro

(b) Delhi and Hyderabad

(c) Bombay and Calcutta

(d) Patna and Nagpur

LSS QT erhm LDewT

(<) Q&b ewr (=) silgead oewr (@) euelTL 6> LoGwT
Ideal soil for growing cotton is .

(a) Red Soil (b)  Black Soil (c) Alluvial Soil

Yelludev 2 drer perertiilen FHeigid

(1) 71 (=) 97 (&) 2.8
The percentage of fresh water on the earth is
(@) 71 (b)) 97 (c) 2.8

galluur swrfliy wpevm @hsg enswm@pn uriLidfey
(<) wsatlwe (<=3) e eSlwe
(@) Qupeswenblil] (FF) @Laflwed

The subject which deals with map making process is

(a) Demography (b) Cartography

(c) Physiography (d) Topography

(FF) wmedl

(d)

Pali

(rF) Lbewe LDGBT

(d)

Mountain Soil

(rF) 0.6

0.6
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3 6207

Tl DenFsraeld @ (pellen semaalr :

(1) p@npt (<) pp@ase

(@) surpTwsT (FF) 2 eT&Hienm enFam
The State Council of Ministers is headed by

(@) The Governor (b)  Chief Minister

(c) Speaker (d) Home Minister

FTE HLSHIS@EHESHTET STTEUBISET WTenal ?

(=) =nHCousld (=) BCuramsguie el (Hge
(@) Feuliy ellersdled Hlovemand  (FF) @eneu &TSFILD
What are the causes for the road accidents ?

(@) Over Speed (b) Drunken Drive
(¢) Red light Jumping (d) All of these

QuHw Ut GHWE I-8 cugeumbSSeuT Wi ?

(=) 25w @LomT (<) @rsSur Ceer
(@) =995 urarig) () syiib aoidl

Who designed the symbol X of Indian rupee ?

(a) Udayakumar (b) Amartya Sen

(c)  Abijith Banerjee (d) Adam Smith
QuUrgISSIEmM 2 LW

(=) Qaru CrrésLd (=) Coaneu CHT&ESID
(@) eas cuentls CHTSSLD () QumrpgIGurs@ Crrésid
Public Sector is on

(a)  Profit Motive (b)  Service Motive

(c)  Speculative Motive (d) Entertaining Motive

[ HpLiys / Turn over
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Slfley - 2 / SECTION - 2
Camgl L QL migener HlrliLs. 10x1=10
Fill in the blanks :

11. @pswureie Gflilgey srbrrouiamns fleyuBsgeusnars aurflas Qs
Qararensenw Gasmeant(h eubSeuT )
adopted the policy of Doctrine of Lapse to extend the British Empire in India.
12. sllprserred ‘“‘aif wHME’ erareb Ogaralbdumreier mmers
Trenfl” eTene|d <Ml L.

was known by Tamils as “Veera mangai” and “Jhansi Rani of South India.”

13. _ @ndlu waseaflar eurpseansuier @ff emhidlamarhs LGHWTS Q\(HHSI.
was the integral part in the life of the people of India.

14. ‘yeluder Gzmed’ eremm) SnP&SILHSEDG.
The “Skin of the earth” is

15. @pflureilan _______ wrpsrd e wdCatu Qrariraug <idls psr wésd
Cgrensamuids ClsrerLg).
Metropolitan City in India has the second highest urban population in the World.

16. Lel&CGamer wrdlfl ererug) 6 o aTenlollTer 2 (hal Sl @p@ib.

The globe is the true representation of the

17. @bSHu rdlweennliyg sl b Gigwflenwenw LLHLD eupmIGHDG).
Our Indian Constitution provides for only Citizenship.

18. @pSwurefer Qeaellypmeysds Csrarensulieanear eligaumbss PHerannd &Ml

The Chief architect of India’s foreign policy was

19. Blsp Hlevew eumidlenw GTETMILD DNLPSSHETLD.

Online Banking is also known as

20. gaflwurt genm Cprasgdler CFweouBhdng.

The private sector is on motive.



21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

QUTHSSIS :
Match the following :

< mFlGeowaer
The British

Blrbsr Hleoeufl S b

Permanent Settlement

Y:lzols
Madurai

97D GhHTeT FenL

Theosophical Society

&Teoiblena

Climate

SUTLSTONET &SLHl6&6T

Hazardous Waste

5 6207

1S1fley - 3 / SECTION - 3

10x1=10

- yell uLsdlen SmeGamed
- Key of a map

- BewrL preverw IHHLD

- Long Term Changes

- Sjevtertl QuFesT

- Annie Besant

- Owrgg o empr(H 2 Hus

- Gross Domestic Product

- LieisTenL_ B&FLD

- Ancient Town

- g Foum 31, 1600
- 315t December 1600

Ledulwe smyemntleser - Lgl GLéa
Geographical Factors - New Delhi
et edler&ssd - epeolGummLseT
Legend - Raw Materials
GCaélw Gurr Hlepema]d Hlenard -  GUBIGTETLD

National War Memorial

GDP
GDP

- Bengal

- STOTEUS ITET LO(HBSISHET

- Outdated drugs

[ HpLiys / Turn over
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@3 - 11/ PART - II
Slfley - 1/ SECTION -1
eueonm| / HISTORY
eTemeuCenId Hest@ laTésEndE WL ellawelldEsea, . 4x2=8

Answer any four questions only.

31. Seuentd srUUsBIGET LUDDH o GHILL cuenrs.

Give a short note on Archives.

32. LITGMETWGSTTIEET eremiioum Wt ? ereneuGuignid @renr(h CluwTsemer ganmis.

What do you know about the Palayakkarars ? Name any two of them.

33. SSA wpmitb RMSA -ém ellfleurdsd sms.
Expand SSA and RMSA.

34. @ndlumedler LmpbLfw ensellenar GummLseafler Cgmfbereneser wreanal ?

What are the traditional handicraft industries of India ?

35. OTETET BEIHIGET epemmlen GlLwrsamers @GDlLG(Hs.

Name the three Presidency cities.

36. aeps Sevwsafler Sacuperpl LW Hs.

List out some social evils.

Slfley - 2/ SECTION - 2
HeSlulwed / GEOGRAPHY
eTemeuCenId HestE elaTésErdE WL allawelldEsea, . 4x2=8

Answer any four questions only.

37. LDGRTERTIGN CUENEHENETS Fnl)d.
State the types of soils.

38. &srblened — eUENTILMI&ESHE|LD.
Define “Weather'.



39.

40.

41.

42.

43.

44.

45.

46.

7 6207

SrroliypnsSlelmbg BETULDSIHDE QLD QUUTEUSDSTET (PSS &Iy emnTniSeT
wrened ?

What are the causes of rural to urban migration ?

BLogl Briiqed GeueTer LTSl G@GeTarm@ld (&Sl LGdHasemers L iquwiedl(His.

List out the major flood prone areas of our country.

QUT(BETTSTT BL GG &N GTETMTE) 6T6men ?

What is meant by economic activity ?

2 UAA&EET ‘ST SaTLLD’ eTam AeP&ESLILI(HN6UG] 6rem ?

Why Africa is called a “Mother Continent” ?

Slfley - 3/ SECTION - 3

Glgeowuilwed wHMIL Glummemgmyn / CIVICS AND ECONOMICS

stemeuCuienid @revei(h cllanmagEnsé@ LG eflenLweflGsea]b. 2x2=4

Answer any two questions only.

Giqwflenullen cuamssamers @GDHILILAHS.
Name the types of Citizens.

gCaed Bren@ Frene ellHaEemer 6T(Lpsis.

Write any four Traffic rules.

Lenrg e oSl eTemmTed 6Temem ?

What is the Value of Money ?

Qurgid gleopsdr GHlsg fn GOILY eT(paIs.

Write a short note on Public Sector.

[ HpLiys / Turn over
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47.

48.

49.

u@&d - 11/ PART - III

Epssranid HlaTés@EnsE ellanlweflésea,b. 6x5=30

Answer the following questions.

(<=1) pelienr @pHwrellen eurerdHm < sTrhRSmers LHHES GOHLIAHS.
S|V

(<) Campi srogdled swelluder Hlavovepwis LpMl ellfleurs erpgis.

(a) Give an account of the historical sources of Modern India.

OR

(b) Give a detailed account on education under Cholas.

(=) Blevoowrer Bloveufl L sHlean Hlenm Genmasener alleurdlése]ib.
360605

(<=4) 1991 -oyib el ETHHSsnsErsE 9AnE Qsmfaogmpule euaridsamw
cllems @ s.

(a) Discuss the merits and demerits of the Permanent Settlement.
OR

(b) Explain different phases of Industrial development in India in 1991.

(=) BSTLWLTGESOlaTE LML HleneTa SHeneT < Tmiis.

360605
(<) epoliQurmpLlsaiier gl ulled Asmflosnigamer auamslU(BSS llemd@s.
(a) Discuss the consequences of Urbanisation.

OR

(b) Classify and explain the industries based on the source of raw materials.



50.

51.

52.

9 6207
(=) smHm wreEUBFmoLl UHPl @ SL(HenT cUanTs.
3|60V
(=) srewilll elluL mBiser omib eupdler padlusgieusans alleuflasal.
(a) Write an essay on Air Pollution.

OR

(b) Describe the Cadastral Map and its importance.

(1) paeamwister Slsmrmiger LOHNID Lamlsmer aleutl&seab.
S|6060F)

(=) Bflsgiopiien Lkig LD (g5,

(a) Discuss the powers and functions of the Chief Minister.

OR

(b)  Write about the role of Judiciary.

(=) QurmerrsrrsSled HmLL Lemddler alenereser wWrenel ?
S|6060F)

(<) Qurgs giempuler o miliger LMD alleTsEs.

() What are the effects of black money on economy ?

OR

(b)  Explain the organs of Public Sector.

[ HpLiys / Turn over
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53.

54.

10

u@&d - IV / PART - IV

EDESEMTLMeUS@HEG STOSCHTH 6UMTS.

(=) eurevGarLsmor seraflsCarl el AenL_BE <6 (H

) &8 @UlliLg gL

) o 6v 6 hGans

(<=
(@) @bdwureler @m@wuyuuremns AMPSUILOHSSILILTL 2,60 (H
(
(2

) Ceugynm gD
Draw a timeline on the following :
(a) Vasco da Gama reached Calicut.
(b) Sati Abolition Act.
(c) The network of railroads in India was introduced.
(d) Wood’s Despatch
(e) Vellore Revolt

u@d) - V/PART - V
91fley - 1/ SECTION - 1
SemenEg llanTEsERsGD allenlwiefl&se,b.

Answer all the questions.

@B euenruL e SpsaaTLuDednS GMHSHHaLD.

(<) sartaflaGamen

(<) Qe

(@) ssssm

(FF)  e&Ceorm

(2) sEpsTapT

Mark the following places on the outline map of India.
(a) Calicut

(b) Delhi

(c) Calcutta

(d) Lucknow

() Tanjore

5x1=5

5x1=5
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11

1S1fley - 2 / SECTION - 2
2 & UMTULSHO EDGHMTL Q)L BISmaTS GDlSES6a|D.
<) @BHw QuEmmsL6
<),) Cger < rdflgsr
@) \WCréa

) <pend Gradlwim

oar) @Bl
o) @mdleorhg
o) e

(

(

(

(

(o) Slemamigd ClLmRISL 6
(

(

(

(8) @reigwr

() LGS QLRSS 6D

Mark the following places on the World Map.
a) Indian Ocean

b) South Africa

c) Brazil

d) Australia

f) India
g) England

(

(

(

(

(e) Atlantic Ocean
(

(

(h) China

(

i)  Russia

(G)  Pacific Ocean

-00o0-
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack

of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil t o draw

diagrams.
PART - I/ L&)
SECTION -1/1 - ¥
10x1=10 - cfﬁg..,'ﬁW/;'f&KJf/&fJ;QQ}uH}”L uﬁ;;U;l}/Laz’g)

Choose the most appropriate answer from the given four alternatives and write the option
code and the corresponding answer.

¢ dlﬁL(ﬂBJa}dx@UquﬁM 1

Pl (b) WS, ()
A (d) GRS ()
Who laid the foundation of Portuguese power in India ?
(a) Vasco da Gama (b) Bartholomew Diaz
(c) Alfonso de Albuquerque (d) Almeida

[ g;_g‘ / Turn over
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S @ =/, © &b = @

The word ‘Veda’ is derived from

(a) Sanskrit (b) Latin (c) Prakrit (d) Pali
&
s Tesl$s  (b) bl s (a)

s (d) B3 (o)

Ancient towns are .
(a) Harappa and Mohenjodaro (b) Delhi and Hyderabad
(c) Bombay and Calcutta (d) Patna and Nagpur

‘a&’dt‘*iﬁL?!&u’l{
S8l () S © U ) U ()
Ideal soil for growing cotton is

(a) Red Soil (b)  Black Soil () Alluvial Soil (d) Mountain Soil

PRI A

06 (d) 28 (9) 97 (b) 71 ()
The percentage of fresh water on the earth is
@) 71 (b) 97 € 2.8 d) 0.6
« e Jogsd
3K (b) 3 ()
S @ S ©

The subject which deals with map making process is
(a) Demography (b) Cartography
(c) Physiography (d) Topography
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-u?L/ @/'MJJJJ-J/J;UJ)GJL/ 7
S (b) 2 ()

Ll (d) A
The State Council of Ministers is headed by .
(@) The Governor (b) Chief Minister
(c) Speaker (d) Home Minister

¢ eVl 8

A AE (b) Mmslic e (a)
& (@ Lo fWAEL, (O
What are the causes for the road accidents ?
(@) Over Speed (b) Drunken Drive
(¢) Red light Jumping (d) All of these

¢ G123 et 9

Lz (b) Mo (a)
T () Sred (©
Who designed the symbol X of Indian rupee ?
(a) Udayakumar (b) Amartya Sen
(c)  Abijith Banerjee (d) Adam Smith
— M‘Kﬁ&.@, 10
e s (b) U6 046 (a)
CF o (d) SV ()
Public Sector is on
(a) Profit Motive (b)  Service Motive
(c) Speculative Motive (d) Entertaining Motive

[ g;_g‘ / Turn over
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SECTION - 2/2 -5
10x1=10 WP RAL I

Fill in the blanks :

_@QtﬁgJﬁendﬂ!iL@“?Jw‘jiwL 11

adopted the policy of Doctrine of Lapse to extend the British Empire in India.

b b LU S5 (et SIS S 12

was known by Tamils as “Veera mangai” and “Jhansi Rani of South India.”

—esz Il b Qe 13
was the integral part in the life of the people of India.

< “Uo St a4
The “Skin of the earth” is
-‘44/,2/»46476/?@!&/@ fd"j{.’)}fgut’:ﬁf 15
Metropolitan City in India has the second highest urban population in the World.
. V
e AP E¥ ¥ 16
The globe is the true representation of the
- L"//“Wc{,/;’ J//:"’“}&C’/)M e 17
Our Indian Constitution provides for only Citizenship.
E /L""‘(ULJ‘{%L’;/GJUU’JM 18

The Chief architect of India’s foreign policy was

—e bl S AT 19

Online Banking is also known as

- a,bﬁgf/d/}gfb .20

The private sector is on motive.



10x1=10
Match the following :

The British

Permanent Settlement

Madurai

Theosophical Society

Climate

Hazardous Waste

Geographical Factors

Legend

National War Memorial

GDP

[ g;_g‘ / Turn over

SECTION - 3/3 -5

e

Key of a map

J%/.l'g&,odj}b

Long Term Changes

LR

o

Annie Besant

(GDP) Jhslac b AF

Gross Domestic Product

Ve

Ancient Town

1600 ~73-31

315t December 1600

Gl
New Delhi

Jirl

Raw Materials

JE,

Bengal

~39123,,60
Outdated drugs

6208

LN IN)

=\

21

N\

el 22

Qe 23

Frfond 24

s T .25

il 26

SO,

el 28

J~ ¥ l)f:’ 29

GDP .30
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PART - T1/ TI- &4
SECTION -1/1-¢
HISTORY/ &t

4x2=8 _Jn;.,tziomnlg&/_;‘/

Answer any four questions only.

WSS A
Give a short note on Archives.
-“&grt’éuu.‘wﬂ;ufu! ¢ uz’&;bl[(*Tu:L/LLUJ/Q’L& 32
What do you know about the Palayakkarars ? Name any two of them.
RMSA. 5/ SSA: S &7 .33
Expand SSA and RMSA.
¢ OIS Gl 34
What are the traditional handicraft industries of India ?
_a b LUtk 35
Name the three Presidency cities.
E e duiuded 36
List out some social evils.
SECTION - 2/2-%
GEOGRAPHY/ I
4x2=8 L Eotzl e 392
Answer any four questions only.
_Eokur S 37
State the types of soils.
-gg.,y/?d/ (Weather) “ﬂ*‘” .38

Define “Weather’.
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¢ B e ASUS A Ut Uil 39

What are the causes of rural to urban migration ?

ke AU AL e 40

List out the major flood prone areas of our country.

¢ §.)’/Lf;df/d’bf 41

What is meant by economic activity ?

¢ bl Pl Ui 4

Why Africa is called a “Mother Continent” ?

&
oo

SECTION - 3/3- %
CIVICS AND ECONOMICS/ = brslelis

2x2=4 L inl (i

Answer any two questions only.

ot

Name the types of Citizens.

i gl

Write any four Traffic rules.

What is the Value of Money ?

_éu'/%g/?uf”?y@ 46

Write a short note on Public Sector.

[ g;_g‘ / Turn over
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6x5=30

PART - II1/ III- b‘ug

-é’)g'ﬁﬁoﬂmf“}@n

Answer the following questions.

_ggu&éwé'@/m’w/m&g
[
-gfgaJ:‘”%%’d/ﬂwggﬁusug
Give an account of the historical sources of Modern India.
OR

Give a detailed account on education under Cholas.

_;ée,f/vugt;mwg}u/wmdf"
L
_E EIS e 35 ek 1991
Discuss the merits and demerits of the Permanent Settlement.
OR

Explain different phases of Industrial development in India in 1991.

Fan Gl
b
& CEnE Sanesa Uit

Discuss the consequences of Urbanisation.
OR

Classify and explain the industries based on the source of raw materials.

(a)

(b)

47

48

49
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-g%ﬁf_g{ W @ 50
L
_e LA UIgE I L ﬁ'&:g“/&@ (b)
(a) Write an essay on Air Pollution.

OR

(b) Describe the Cadastral Map and its importance.

_é&{duwﬂgu.@k‘:&!{b (@ .51
[
-.:ﬁguﬁé./gé Jul Ju  (b)

(a) Discuss the powers and functions of the Chief Minister.
OR

(b) Write about the role of Judiciary.

¢ gl ra WL AL et @) 52
b
ECASLPLAL )
(a) What are the effects of black money on economy ?
OR

(b) Explain the organs of Public Sector.

[ g;_g‘ / Turn over
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PART - IV /IV-&.{

5x1=5  E YL L Sies 53
SRR W ()
JICEILLE (b)
Ve el usel bt ubass (Q)
WV P (<)
S (e)

Draw a timeline on the following :

(a) Vasco da Gama reached Calicut.

(b) Sati Abolition Act.

() The network of railroads in India was introduced.
(

(

(o

) Wood’s Despatch
e) Vellore Revolt

PART-V/ V-2
SECTION - 1/1-%
5x1=5 L Za 2l e IS

Answer all the questions.

P E eSS bl B Y 54
26 ()
& (b)
ECNG
2
£ (e)

Mark the following places on the outline map of India.
(a) Calicut
(b)  Delhi
(c) Calcutta
(

(

(o

) Lucknow
e) Tanjore
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SECTION - 2/ 2-5

10x1=10

Mark the following places on the World Map.
a) Indian Ocean

b) South Africa

c) Brazil

d) Australia

f) India
g) England

(

(

(

(

(e) Atlantic Ocean
(

(

(h) China

(

i)  Russia

(G)  Pacific Ocean

-00o0-

: édi@({ah&*d:’@wuﬁgiy:

af
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ot
I
OV

(@)
(b)
©
(d)
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